KEAIZOVHISA T« J=ILF+(F5X)<HI-VPW - G >
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{52 FAE S Bk FE) 0.75MPa I
BETSES (BKE+KRE) 1MPa LI

JISK 6742

JIS K 6742

\ L A |
BT mm
P e = = = B aE TEfifi (F9)
B 5 B\ AEOHRE B & _J; & & .é(L_),, BEER (kg/m) BWEG UEW T VW

(D) |BR-BNTFT #H| ) |FEE| HEhSE FEEHVPWGE VPW [=4,000 | L=5,000 | ] L=4,000 | L=5,000 | L=4,000 | L=5,000 | L=4,000 | L=5,000

13 18.0 |£0.20 | £0.2 | 2.5 |£0.20 | 4000 300 0.170| 0.174 |O| IW134 - |O|VW134 - 1,110 - 900 -

16 22.0 |£0.20 | £0.2 | 3.0 |=0.30|4000 381 0.251| 0.256 |O| IW164 — |O|VW164 — 1,660 - 1,320 -

20 26.0 |£0.20 | £0.2 | 3.0 |=0.30|4000 +391 0.303| 0.310 |©O| IW204 — |O|VW204 - 1,830 — 1,530 -

25 32.0 |£0.20 | £0.2 | 3.5 |=0.30|4000 391 0439 0.448 |O| IW254 — |O|VW254 — 2,770 - 2,160 -

30 38.0 |£0.30 | £0.2 | 3.5 |=0.30|4000 +391 0.531| 0.542 | O | IW304 — |O|VW304 — 3,530 - 2,750 -
40 480 |£0.30 | £0.2 | 4.0 |=0.30|4000 5000 |*39| 0.774| 0.791|O| IW404 | IW405 |©O| VW404 | VW405| 4,840 | 6,060 | 3,920 | 4,880
50 60.0 | £0.40 | £0.2 | 4.5 |=£0.40 | 4000 5000 |*39| 1.098| 1.122 |O| IW504 | TW505 |© | VW504 | VW505| 6,430 | 8,020 | 5,320 | 6,680

65 76.0 | £0.50 | £0.3 4.5 |+0.40 | 4000(5000)|+39| 1.415| — |O| IP654 — — - — 8,940 - - -
75 89.0 | £0.50 | £0.2 5.9 |0.40 | 4000(5000)| 29| 2.156 | 2.202 |O| IW754 | IW755 |O - VW755 | 13,250 | 16,560 - 12,680
100 114.0 |£0.60 | 0.2 | 7.1 |=£0.50 | 4000(5000)| =33 | 3.338 | 3.409 |O|IW1H4 | IW1H5|O —  |VWIH5]| 19,400 | 24,250 - 18,700

125 140.0 |£0.80 | £0.5 | 7.5 |£0.50 [4000(5000)| 39| 4.370| — |O|IP1Q4 - |- — — 26,540 - - -
150 165.0 |£1.00 | £0.3 | 9.6 |=£0.60 | 4000(5000) =39 | 6.561 | 6.701 |O|IW1F4 | IW1F5| — — |VWIF5]| 40,260 | 50,330 — 38,030
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